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Q.1 Select the alternative which best expresses the
meaning of the idiom/phrase.

To get up on the wrong side of the bed

1) to find oneself in a strange place when one wakes
up especially after drinking a lot previous night

2) to start the day in a bad mood which continues all
day long

3) to argue with your spouse

4) to roll a lot in bed while sleeping

Correct Answer: 2
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Q.2 Select the antonym of SNNag

1) hurdle
2) boon
3) bug
4) glitch

Correct Answer: boon
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Q.3 Select the one, which best expresses the same
sentence in Passive/Active voice.

The candidates had written an essay.

1) An essay was wrote by the candidates.

2) An essay is being written by the candidates.

3) An essay has had been written by the candidates.
4) An essay had been written by the candidates

Correct Answer: 4)
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Q.4 Select the one, which best express the same
sentence in Indirect/Direct speech.

Bunty said, "1 have done my class work".

1) Bunty said, he had done his class work.

2) Bunty said that he had done his class work.

3) Bunty was saying, he has done his class work.
4) Bunty said that he did his class work.

Correct Answer: 2)
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Q.5 If I (Just had) the money I would
have bought the car.
1) have had

2) was having

3) had had

4) no improvement

Correct Answer: 3) had had
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Q.6 Select the antonym of diligence
1) lethargy
2) exertion
3) vigour
4) assiduity

Correct Answer: 1) lethargy
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Q.7 The relocation of the car factory to our
struggling town is an economic ----------———--- .
1) boon

2) good

3) donation

4) present

Correct Answer: 1) boon
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Q.8 Her heart was (A)/ pounding as he (B)/
stopped front of her. (C)/ No error (D)

Correct Answer: (C) Replace Front of with towards
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Q.9 He only plays a subsidiary (A)/ role
of the management (B)/ of this

organization. (C)/ No error(D)

Correct Answer: (B) Replace of with in
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Q.10 Select the one which is opposite in
meaning of the given word.
Drawn

1) Tense

2) Thin

3) Relaxed

4) Drained

Correct Answer: 3) Relaxed
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Q11. Mothers keep on (1)/ to encouraging
their children (2)/ to study. (3)/ No error (4)
A. Mothers keep on

B. to encouraging their children
C. to study.

D. No error

Answer: (b) Keep on doing something = continue
doing something. It is superfluous to use
preposition ‘to’.
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Q12. They will (1)/ leave the office at six and

(2)/ reach at home by seven. (3)/ No error (4)
A. They will

B. leave the office at six and
C. reach at home by seven.

D. No error

Answer: (¢)

Reach (Verb) = to arrive at
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Q13. I am not familiar with (a)/ all the important
places in this town (b)/ although I had been
living here for two years. (¢)/ No error (d)

A. I am not familiar with

B. all the important places in this town

C. although I had been living here for two years.

D. No error
Answer: (c) The work continued in the past and still goes on.
Hence, Present perfect continuous i.e. although I have been
living here for two years ..... should be used here
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Q14. The receptionist gave us (a)) much
informations (b)/ which we needed. (c¢)/ No error
(d)

A. The receptionist gave us

B. much informations

C. which we needed.

D. No error

Answer: (b)
Information (Uncountable Noun) = facts or details
about
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Q15. Ravi Shankar’s performance was given
(1)/ a standing ovation by the (2)/ people who
has come to hear him. (3)/ No error (4)

A. Ravi Shankar’s performance was given

B. a standing ovation by the

C. people who has come to hear him.

D. No error

Answer: (c¢) The sentence shows past time. Hence, Past

perfect i.e. people who had come to hear him ......
chonld he nneed here
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Q.16. (a)/ If I was you (b)/ I would not (c¢)/

tolerate him (d)/ for a moment.

(a) Change 'was' into 'were'. "Was' is

not used in imaginary position.
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Q.17. (a)/ Until the train will not get (b)/ the
signal, (c)/ it will not (d)/ leave the platform.

(a) Remove will not'. Not' and 'will do not
come after 'unless‘ /until. Change get into
'gets
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Q18. (a)/ If I had (b)/ two houses, (c)/ 1
would have given (d)/ one to you.

(c) Change 'I would have given into 'I would

give'.
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Q.19. (a)/ Unless (b)/ he will not understand
(c¢)/ the concept he (d)/ will not be able
to solve the questions.

(b) Change the will not understand' into 'he
understands'. 'Not and 'will do not come after

"unless’'.
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Q.20. (a)/ If he tried (b)/ again, he can (c)/
pass the exam (d)/ with flying colours.

(b) Change 'can’' into 'could'.
The sentence is in past.
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21. You and your company would be
by the standard of both

your public and private behaviour.

A. expected
B. advanced
C. judged

D. enlarged

Answer: (¢)
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22. The higher you climb, the more
difficult it to breathe.
A. became

B. becomes

C. has become

D. is becoming

Answer: (b)
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23. The townspeople celebrated the

soldier’s return to his home by

adorning trees with yellow ribbons and

balloons.
A. somber
B. jubilant
C. pitiless

D. cunning , .
Answer: (b) Jubilant means rejoicing;

expressing joyfulness; exulting.



SSC CHSL 2022-23

24. Cooperatives are a form of collectivized

enterprises, in which farmers’

pool resources, capital and land to

achieve economies of scale.
A. Advance

B. Appealing
C. Rural Answer: (c)
D. Urban Since the sentence talks about

the enterprises of Farmers,
Rural fits to be put in the
blank.
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25. The food that an average Indian eats
have been found to be deficient

vitamins and proteins.

A. of
B. from
C. with
D. in

Answer: (d)
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(0

Home Work

—/

You surprise me.

A. I am to be surprised

B. You are surprised

C. I am surprised

D. Me is surprised
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D

Home Work Answer

—/

Today, society is literally
poisoning the earth with acid rain.

1.cosmopolitan

2.developing

3.growing

4.industrialized
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